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QUESTION 1

What are two advantages of implementing Data Center Virtualization? (Choose two.)
A. Unified resource management

B. Automated provisioning

C. Automated Disaster Recovery

D. Unified application management

Correct Answer: CD

QUESTION 2

Which two statements are true about VMware vSphere? (Choose two.)
A. It enables recovery from unplanned downtime.

B. It enables desktop virtualization using Workstation.

C. It enables administrators to upgrade operating systems.

D. It enables planned live migration using long-distance vMotion.

Correct Answer: AD

QUESTION 3

An administrator needs to increase the amount of startup delay there so that they can edit the BIOS of the virtual
machine. Which option tab will allow them to configure the setting?

A. Boot Options

B. VM Options

C. Virtual Hardware

D. Power Management

Correct Answer: B

QUESTION 4
How does vSphere HA assist an administrator in the event of a host failure?

A. It uses vMotion to move affected virtual machines to a different working host.
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B. It uses snapshots of virtual machines.
C. It creates virtual machines backups.
D. It restarts affected virtual machines on another working host.

Correct Answer: A

QUESTION 5

What are the two features of vShpere that help address the availability challenges that organizations face? (Choose
two.)

A. Snapshots

B. vSphere Data protection
C. High Availability

D. Fault Tolerance.

Correct Answer: CD
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